Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working,

1.  Write down the value of the 5 in 7.052

(Total 1 mark)

2.  Simplify 4y —y+2y

3.  Write 678 980 correct to the nearest ten thousand.

(Total 1 mark)

4.  Find all the factors of 40

| w
2 v 2©
Dh Y\\AU

S x &

28.%.3,.2.0920, 49
(Total 2 marks)
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5. Lynnis planning a Christmas party for her badminton club.
Here are her costs.

Food £176
Drink £103

Hire of room  £36 perhour 2/, G = )4 ¥

Lynn wants to hire the room for 4 hours.

There will be 28 people at the party. N m Y ! M\ g~ %.NQ

Lynn will charge these people £15 each.

Will Lynn get enough money to pay all her costs?

You must show your working.

Cost of Farty s \%Mm + (02 + /4%
= g% A3

N\ﬁ\ss ?\L\ Earn %%MQ NQ\: \mo\\b\ﬁ
\w*\mxx\\yw e R%\Q\ however tt-

i cost 423, 0, she won T

WO& N\\Qv%y mon &7 fo e d all her”
(055,

(Total 4 marks)
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(a) Sabrina throws a fair coin.
On the probability scale, mark with a cross (%) the probability that the coin will land on

tails. X
_ _ ]
0 ,_J 1
2
(1)
(b) Suresh throws an ordinary 6-sided dice.
On the probability scale, mark with a cross (x) the probability that he will throw a 7
_ | |
0 r_. 1
X 2
(1)

(c) There are three yellow sweets and one blue sweet in a bag.
Graham takes at random a sweet from the bag.

On the probability scale, mark with a cross (x) the probability that he will take a blue
sweet.

n
1

B | ——

¢y
(Total 3 marks)
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Mr Wither sells umbrellas.

The scatter graph shows some information about the number of umbrellas he sold and the
rainfall, in cm, each month last year.
A

60

40

Number
of umbrellas >

30 -

20

10

¥

4 5 6 7 8 9 10

Rainfall in cm
In January of this year, the rainfall was 6.1 cm.
During January, Mr Wither sold 32 umbrellas.

(a) Show this information on the scatter graph.
1)

(b) What type of correlation does this scatter graph show? oy

Fostiye Lorre (ation

In February of this year, Mr Wither sold 40 umbrellas.
(c) Estimate the rainfall for February. #
........ P . TR ST . ¢
@)
(Total 4 marks)
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Ya
5
4
=3
/ \
/| 5 NN\
P ﬁQ
1
S5 4 3 2 -10 2 3 *
i B
g
-3
4
(a) Reflect triangle P in the y-axis.
2)
/)
WA
\ Q -
(b) Draw an enlargement of shape Q scale factor 3
)
(Total 4 marks)
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A pile of sand has a weight of 65 kg.

a0
Some of the sand is put into a small sack. Nl\ N. WDN\\A S Mmu m.\\ A i
The rest of the sand is put into a large sack. ‘= P m aﬁ/@ .

The sand in the large sack weighs 15 kg more than the sand in the small sack.

———

What is the weight of the sand in the small sack?

wall sack = @m\\ \m;v — 2.
= 3 0= &
25 kg

|

Check

g

 Lage sack =05~ 25

= 4O kY A NN

N\S\\%mu &\N%{W \W@ e d\ﬁ.oa»_m_.ﬁslﬁmv

10.

Laura is asked to solve the equation 6x +4 =10
Here is her working.

6x+3=9
6x=12
b4 =2 p

Laura's answer is wrong.
What mistake did she make?

Lawa minuses. 3 Lol Heo \NK\\ s1de

....................................................................................................................................................

o Hhe equation . bont adds i to the ofher

% \&\N \\\\ % Ngm\ Q& \XS :m\\\wﬁ R\O\S & Q\.& (Total 1 mark)
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11.  In August 2008, Eddie hired a car in Italy.

The cost of hiring the car was £620
The exchange rate was £1 =€1.25

(a) Work out the cost of hiring the car in euros (€).

mko v {. i)

Eddie bought some perfume in Italy.

The cost of the perfume in Italy was €50
The cost of the same perfume in London was £42

The exchange rate was still £1 =€1.25

(b) Work out the difference between the cost of the perfume in Ttaly and the cost of the
perfume in London.

Give your answer in pounds (£).

(ot In London = 542 o €52.50 (42 N1-25)

Cost i iof =€50or 3 40 (507 1.257)
34240 = £2
kj\\wﬁ (oSt O‘_N the ﬂu&‘\w\l\c&qﬂ o
London wns MQN wd YO iq \.\sf\\
g\\xxv\,\%\m\ (1 oS %%N 0\.&\\\\@\ /1 \.‘_ﬂ«\%

..................................

(Total S marks)
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12. An internet bookshop uses this advert.

Each day every 3rd customer gets a mystery prize.
Each day every 20th customer gets free postage and packaging.

On Tuesday the internet bookshop had 150 customers.

- rol
(a) How many of the 150 customers got a mystery prize? £ m“,\@\pW >

@
(b) How many of the 150 customers got free postage and packaging? z .\.N”Q 20 cu wﬂmo\?ﬁ\.m

p— — e

/50 >20="75

——

Comlt have 0.5 of o (erson

1

_ ] people qot tee potoge |N

..............................................

3 20"
(¢) How many of the 150 customers got both a mystery prize and free postage and
packaging? e

2y 20 = LO& Buy b cuglomer gl

bLotly .
/5D = o= 25
Cantt boe ©O-5 ol a person...

ﬁ , M wmoﬁ,m @a:r ot HU({ ..........

(Total 6 marks)
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13.

Mrs Phillips needs to decide when to have the school sports day.

The table shows the number of students who will be at the sports day on each of 4 days.

It also shows the number of teachers who can help on each of the 4 days.

chma.&\/\ Wednesday | Thursday Friday V]
Number of students 179 162 170 143
Number of teachers 15 13 14 12

(2. 74

1.
For every 12 students at the sports day there must be at least 1 teacher to help.

On which of these days will there be enough teachers to help at the sports day?

(.93 « Vs

You must show all your working.

\ﬂ:mﬂm& « . MiZEE=lias

W) ed :&%& d

\Nyx\m&w\ _ (70 14F

Friday = 1437
Tuegdey

_—
—

ano! \W r \\%&QN ot
hore there ot at mest 12 studealts

[ L. 9=

No
N
i

O
b

—

Hhe Qx@ da

(Total for Question 24 is 3 marks)

\< ﬁvnm!.\ :\m& im&@ \\ ; :\m&@ Hueye —are roré

fu\‘\?\\i [ 2. stucteats per reachier therefore
ot sattable Lor sperts G-
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14, 30% of a number is 120 ﬁpg ..,\ O«W i \\_\,OO

“Work out the number.

(& (12015 38, thaq (O = me\.@. = 40
' 00/, = 4O x 10 = 40D

a>
30/ 2O,
| 7. = 22 =
- B = &
(o0, = 4 x 100
= yoo 400

..............................................

!

(Total 3 marks)

15. Show that ql|hl|~w & GG\\)\@\‘\\ 1o \ﬁé\\\s\vﬂ.\ MN\KPP*\.GSQ.
= < B3 \\\mW - ,.\\N & Find compon ceneninater
2 2 b

s 4S5 28 _ 17

—

, b -

|
K

(Total 3 marks)
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16.  The diagram shows a map of a field.
The scale of the map is 1 cm represents 20 m.

ey

Wind turbines

X
X &

Sign i

A and B are two wind turbines in the field.
A third wind turbine is to be put in this field.

There must be at least 100 m between wind turbines.

—

Erx@ _Srﬂ.a the third wind turbine can be put.

=

(Total 3 marks)

0B = 20 = - 5. |
" must be Sem gpoce between +urbines

Nmﬁv @Dmﬂv

-
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v | mghxm\n\mmu \_Ne.,\\

17.  The diagram shows the lines of a netball court. P ~_ o ﬁ\ e

v

< 30.5m
|

4—4.9 m 4.9 m» 15.25m

_ ol 3 )
2-

The court is made from three rectangles and two semi-circles.
All the corners are right angles.

Mr Handy is painting the lines for the netball court on the floor of a school sports hall.

Work out the to Ebmﬁﬁbﬂrm lines of the netball court.
Give your answer correct to the nearest metre.

7 Hori2ontal ?»qﬁu = {50, x 2= m\S\.
it Verteal lines = 15 25x % = O m

N mm\xxm\\m\mv ev \0:\0\& Q\ﬁ@:&%@\@qhm

\IU\M\\Y\\ H\Mx\\xmx&
- 30.74.
blm+ b lan t 30.79 = 52, 7%mn

- ———

' \\msiﬁ\m\;& R cirtle
= 1 ov!

.........................................

(Total 4 marks)
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C
m
18.  On the grid, draw the graph of y = 3x — 2 for values of x from —1 to 3

|-l o |1 |2 ]3] §=300) -2
VIR Ik y=3(5) -2

-~ -2
U = wm.t el
N B
¥ gﬁ m.\ﬁri.ﬁs .\\\
B 15 +3
7
H..wl!
/
5 /|
4
3
y
2 ¥
1
=3 o |/ 1 2 3 | x
a-A
/7
/ -4
-5
-6
(Total 3 marks)
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19.  Abbie is 5 years older than Cathy.
Bhavna is twice as old as Abbie.
\ The total of their ages is less than 30

@\* w‘u What is Bhavna’s greatest possible age?

Give your answer as a whole number of years.
You must show all your working.

[ et ﬁ?x&%@ B.NN\IMIN o
Abbie = 2C + S
Bhama = %lﬁuﬁ.\rM\v, oo A=xt!O
v + >+ S5 1 NNH*\WU
Lp . # J 5 <« 30O
e =T 15
e <375
Bhaveo = N%.\x\vio & IS
2z 10 S (TS5

& BV,

-

.........................................

(Total 4 marks)
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20.

The table gives some information about the birds Paula sees in her garden one day.

Bird Frequency &
/ = I
Magpie 15 .Nm.'o. < \.....m.\.m\Xw®O 55
&
Thrush 10 ¢ ° \m.um\ x 260 =
: o |20 LO = (OO w
Starling 20 (0D = X2 )
Sparrow 273§ ° |22 % s = I35
72
Complete the accurate pie chart.

S +ilo+dlo + 277 = ..NWN/ bisds fotel

[ T~
Magpie
M.auo:\_\o W

| <

(Total 3 marks)




(A

21.  There are only red pens and blue pens in a box.
There are 12 red pens in the box.

o .
The probability of taking at random a blue pen from the box is 2 2 .\N.. aré wmuﬁm

3
Work out the total number of pens in the box.

Z o) pens are Red . There are ke

>

\?Nkm .

..................................................

(Total 3 marks)
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22.  Henry is thinking about having a water meter.
These are the two ways he can pay for the water he uses.

p ‘ ..-..‘ ‘ S :I.I..l.Jz‘ .

‘ - y
awmﬁn_. Meter No Water Meter
~ cl!\\l‘llillll

A charge of £2 A charge of £107 per year

A

plus
|
91.22p for every cubic metre of water used
ﬁ 1 cubic metre = 1000 litres

}
ST ——— s — iy \\.[1r|\.

_70x365= 65,700 L

Henry uses an average of 180 litres of water each day.

—_—
Henry wants to pay as little as possible for the water he uses.
Should Henry have a water meter?

akey meter’
65, 700L= (000 = e P

muM\wvm Q\\MNW = M\Q%W.\w\%\u
- Mmmw\m‘% .H,Mu\w. 73

—

/o

S4.93 + 28.20 = wmm. I3 i Total

T ——

; ' .«lm\l
owd stall a wa
%8\ Henry  shoud 1

metev,

(Total for Question 15 is 5 marks)
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23,

Here are the first four terms of an arithmetic sequence.

3 ¥ 24

7

(a) Find, in terms of n, an expression for the nth term of this arithmetic sequence.

..........................................

(b) Is 150 a term of this sequence?

You must explain how you get your answer.

(Total 4 marks)
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24.

Each year Wenford Hospital records how long patients wait to be treated in the Accident
and Emergency department.

In 2015 patients waited 11% less time than in 2014, _

—

In 2015 the average time patients waited was 68 minutes.

(@) Work out the average time patients waited in 2014.
Give your answer to the nearest minute.

L5 nuns = §97 sd 2014 +ime.

& = 0.8 = 76.% asuns \
/64 =100y of 2014 weiti'ng T

The hospital has a target to reduce the average time patients wait to be treated in the
Accident and Emergency department to 60 minutes in 2016.

(b) Work out the percentage decrease from 68 minutes to 60 minutes.

_—

LS =60 = § minute Aecrease.

J_ 100 = J[.Th"

e

8

(Total 5 marks)
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12 |/ @N‘
25. Each length of the side of square B is twice the length of the side of square A. g Z

John says that this means the area of square B is twice the area of square A. \ﬁ (02
e

Is John right?
Justify your answer.

Moy oecands?.... Ho aree o 4. duare... L5
cqual..te... side x side. |.e. side®

not siole x2.
&%. k@“b@i&\ﬁ NKM“%Q&N \ Q.K%u\hns\wﬂ. (Total 1 mark)

\ .......................................
26. Solve ¥ +3x—10=0

—[ x (O
/] ¥y —(O
Ly =%
Must be a pay that adds Fogether to
N@cﬁe\ +3. So must be —2 ancl S

(Total 2 marks)

l

TOTAL FOR PAPER IS 80 MARKS
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